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Section A

Answer all questions.
Each question carries 2 marks.

mean by listing of securities ?

 between primary and secondary market.

| by stock indices ?
e in portfolio selection ? (5 x 2 = 10 marks)

Section B

Answer any four questions.
- Each question carries 5 marks.

 fo ‘a@m investor whofalls in the risk bracket of 30 percent.
s 2 3 4 5

12% 13% 15% 17%

14% 16% 18% 20%

one year government bond that has a maturity value of Rs. 1,000.
8 per cent. How much will the investor pay for the bond if it pays
iam. and the face value of the bond is Rs. 1,000.

rket in a capital market.

(4 x 5 = 20 marks)
- Section C

ny two questions.

Turn over
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14. The following v Use the constant ratio plan tg

Tevise the inves

as the initial portfolio structure for an investor,
tor’s portfolio for the given price change.

B
R?té?)l Fesivion-1000shares at Rs. 32 and bonds worth Rs. 5,000. The sh

reacts to

are price movements were

S- 25, Rs. 20, Rs. 28, Rs. 35, Rs. 42, Rs. 36, Rs. 35, Rs. 32 and Rs. 30. Assume the investoy

a 10 percent change in the portfolio structure.
(2 x 7% = 15 marks)

Section D

(Compulsory)

i . - ich is current
investor, is evaluating a new company’s share which ly

re. He is not sure about the returns from his investment. His required rate
uld like to hold the share for 10 years before he sells them. AS regards
the company, he visualises three possibilities. First, the company may
1ay not pay any dividend. Second, the company may pay a QODStant |
_ npany may start with a dividend of Rs. 3 per share, which m

rcent, He expects different share prices at the end of 100 ye

), Rs. 40 and Rs. 30 respectively under alternatives one to three,

he invests in share’s ?

(1x15= 15 marks)
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